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Level 3 History 2020
91438 Analyse the causes and consequences  

of a significant historical event
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Credits: Six

Achievement Achievement with Merit Achievement with Excellence
Analyse the causes and consequences 
of a significant historical event.

Analyse, in depth, the causes and 
consequences of a significant historical 
event.

Comprehensively analyse the causes 
and consequences of a significant 
historical event. 

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

Write ONE essay in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–12 in the correct order and that none of these pages is blank.
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Achievement Exemplar 2020 
Subject L3 History Standard 91438 Total score 03 

Q Grade 
score Annotation 

1 A3 

Atomic bombing of Hiroshima 
The candidate has chosen a well-defined event with two causes and 
consequences.  
The candidate acknowledges the statement “causes are always clear but 
consequences are not” in the introduction and determines that the statement is 
not true in relation to their chosen event. 
The candidate uses the term “clear” to categorise the first cause but does not 
acknowledge that the causes and consequences to be analysed are required by 
the question to be important ones.   
There is even treatment of causes and consequences and candidate has 
identified short- and long-term causes and consequences, indicating some 
analysis. Each cause / consequence is supported by a lot of factual detail, but it 
lacks the depth of analysis required for a Merit grade because there is little 
evaluation. 
The statement is consistently acknowledged but an argument is not developed; 
rather the candidate continues to assert that the statement is not valid for 
causes or for consequences. 
The conclusion identifies which cause and consequence are most important, 
but both of these choices are still not clearly linked to the event.   
The candidate does not achieve a higher grade because they describe 
unnecessary facts rather than providing an argument and no clear explanation 
of how each causal factor led to the event. The first cause does not establish 
how the rise of Imperial Japan led to the bombing of Hiroshima, and the second 
causal factor (the bombing of Pearl Harbour) does not develop enough of an 
explanation of why the USA would need to resort to the bombing of civilians to 
bring an end to the war.  
Another reason the candidate does not achieve a higher grade is because of 
their choice of the second consequence, namely the New Zealand anti-nuclear 
movement. The link between this consequence and the event is very vague and 
requires a big leap to be made with a broad generalisation that lacks accuracy, 
i.e. that the bombing caused countries to choose one of two options: to stand 
against nuclear weapons or to stockpile and create their own.  
Overall, there is enough evidence within the response and engagement with the 
quote. However, a higher grade may have been achieved by focusing on the 
most important causes rather than the long-term and short-term causes; 
drawing clearer links as to how each causal factor led to the event; focusing on 
analysis including prioritisation rather than a detailed description of facts; and 
choosing a more direct second consequence. 

 




